
Amplitude model Acceptance model Mass fit model
Observable σΛ

BW σΛ
radius σamp. σres. σfinite σacc. σkin. σpK σpγ σcomb.

Λ(1405) +1.2
−0.7

+0.0
−0.0

+0.9
+0.2

+0.0
−0.4

+0.2
−0.2

+0.2
−0.2

+0.0
−0.0

+0.0
−0.1

+0.1
−0.0

+0.0
−0.0

Λ(1520) +1.0
−1.3

+1.1
−1.1

+0.3
+0.0

+0.0
−0.1

+0.2
−0.2

+0.2
−0.2

+0.1
−0.1

+0.3
−0.0

+0.1
−0.0

+0.0
−0.1

Λ(1600) +3.6
−4.5

+1.8
−1.8

+0.5
+0.0

+0.3
−0.2

+0.3
−0.3

+0.2
−0.2

+0.1
−0.1

+0.0
−0.1

+0.1
−0.0

+0.0
−0.0

Λ(1670) +1.1
−0.3

+0.2
−0.2

+0.2
−0.2

+0.2
−0.2

+0.1
−0.1

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

Λ(1690) +4.1
−0.3

+2.0
−2.0

+1.5
+0.2

+0.6
−0.5

+0.2
−0.2

+0.1
−0.1

+0.0
−0.0

+0.1
−0.0

+0.0
−0.1

+0.0
−0.0

Λ(1800) +3.0
−5.9

+1.1
−1.1

+0.1
−0.8

+0.8
−1.5

+0.3
−0.3

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.6
−0.0

+0.4
−0.0

Λ(1810) +3.7
−0.7

+1.1
−1.1

+1.5
+0.1

+0.5
−1.4

+0.2
−0.2

+0.1
−0.1

+0.0
−0.0

+0.1
−0.0

+0.2
−0.0

+0.0
−0.0

Λ(1820) +1.8
−4.9

+0.2
−0.2

−0.0
−0.9

+0.3
−0.4

+0.3
−0.3

+0.1
−0.1

+0.0
−0.0

+0.0
−0.3

+0.1
−0.0

+0.0
−0.1

Λ(1830) +1.3
−0.9

+0.6
−0.6

+0.3
−0.4

+0.3
−0.5

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.2
−0.0

+0.1
−0.0

+0.0
−0.0

Λ(1890) +4.2
−5.1

+0.8
−0.8

+0.4
−0.4

+0.1
−0.4

+0.2
−0.2

+0.1
−0.1

+0.0
−0.0

+0.1
−0.0

+0.1
−0.0

+0.0
−0.0

Λ(2100) +1.0
−2.6

+0.8
−0.8

+0.9
−0.7

+0.2
−0.2

+0.1
−0.1

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.1
−0.0

+0.1
−0.0

Λ(2110) +5.0
−0.6

+1.5
−1.5

+1.5
−0.1

+0.3
−0.2

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.0
−0.2

+0.0
−0.0

+0.2
−0.0

Λ(2350) +0.0
−0.1

+0.0
−0.0

+0.6
−0.2

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.1
−0.0

+0.1
−0.0

+0.1
−0.0

NR( 3
2

−
) +2.9

+0.3
+0.4
−0.4

+1.0
−2.4

+0.0
−0.6

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.0
−0.1

+0.0
−0.3

+0.0
−0.0

Λ(1405),Λ(1670) +0.4
−0.7

+0.3
−0.3

+0.2
−0.0

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.0
−0.1

Λ(1405),Λ(1800) +0.5
−3.6

+0.3
−0.3

+0.1
−1.9

+1.7
−0.4

+0.2
−0.2

+0.2
−0.2

+0.0
−0.0

+0.0
−0.0

+0.0
−0.3

+0.1
−0.0

Λ(1520),Λ(1690) +0.3
−2.3

+0.9
−0.9

−0.1
−0.7

+0.5
−0.4

+0.1
−0.1

+0.0
−0.0

+0.0
−0.0

+0.0
−0.1

+0.0
−0.0

+0.0
−0.0

Λ(1520), NR( 3
2

−
) +1.2

−2.4
+1.5
−1.5

+0.5
−0.5

+0.8
−0.4

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.0
−0.0

+0.0
−0.1

+0.0
−0.0

Λ(1600),Λ(1810) +4.1
−2.8

+0.6
−0.6

+1.5
−0.7

+0.9
−0.4

+0.3
−0.3

+0.2
−0.2

+0.0
−0.0

+0.0
−0.0

+0.0
−0.4

+0.0
−0.4

Λ(1670),Λ(1800) +1.5
−1.9

+0.4
−0.4

+0.3
−0.2

+0.4
−0.4

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.0
−0.0

+0.0
−0.0

+0.0
−0.1

Λ(1690), NR( 3
2

−
) +0.9

−2.2
+1.1
−1.1

+0.2
−2.7

+0.2
−0.5

+0.1
−0.1

+0.1
−0.1

+0.0
−0.0

+0.0
−0.0

+0.0
−0.1

+0.0
−0.0

Λ(1820),Λ(2110) +2.4
−3.1

+1.6
−1.6

+0.5
−1.6

+0.3
−0.5

+0.2
−0.2

+0.1
−0.1

+0.0
−0.0

+0.2
−0.0

+0.0
−0.3

+0.0
−0.2


